Chapter 9 Arithmetic and Geometric
Progressions Ex 9.1

Question 1.
For the following A.P.s, write the first term a and the common difference d:
(i3,1,-1,-3, .....
(i) 13,53,93,133,....
(iii) -3.2, -3, -2.8, -2.6, ...
Solution:
(i)3,1,-1,-3, ..
Herefirstterm (a) = 3
and the common difference (d)
=1-3=-2,
-1-1=-2,...
=-2
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Here first common term (a) = 3

and common difference (d) =

(i) -3.2, -3, 2.8, -2.6, ...
Here first term (a) = -3.2
and common difference (d)

=-3-(-32)=-3+32=0.2
=(d) =02

Question 2.
Write first four terms of the A.P., when the first term a and the common

difference d are given as follows:




()a=10,d=10
(i)a=-2,d=0
(iya=4,d=-3
(iv)a=12,d=-12
Solution:
()a=10,d=10
+ AP =10,20,30, 40, .
(ija=-2,d=0
“AP=2,22-2, .
(iii) a=4,d=-3
AR =4, 1,-2,5, .
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Question 3.

Which of the following lists of numbers form an A.P.? If they form an A.P., find
the common difference d and write the next three terms :

(i)4,10,16,22....

(i)-2,2,-2,2,.....

(iii) 2, 4,8, 16,....

(iv) 2,52, 3,72,......

(v) -10,-6,-2, 2,....

(vi) 12,32 52 72....

(vii)1,3,9,27.....

(viii) V2, V8, 18, V32.....

(ix)3,3+V2,3+2,3+3V2,.....

(x) V3, V6, V9, V12.......




(xi) a, 2a, 3a, 4a,.......
(xija,2a+1,3a+2,4a+3,....
Solution:
(i)4,10,16, 22,...
Herea=4,d=10-4=6,16-10=6,22-16=6
+ common difference is same
wltisin AP
and next three terms are 28, 34, 40
(i) -2, 2, -2, 2, ...
Here, a = -2
d=2-(-2)=2+2=4
2-2=—4
2-(-2)=4
.+ Common difference is not same.
. It is not an A_P.
(#id) 2, 4, 8, 16, ...
Here,a=2
d=4-2=2,8-4=4,16—-8=8
.. Common difference is not same.
. Itis not an A.P.
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Comnion difference is same.
. Itisan A.P.

and next three terms are 4, %, 5
(v) =10, -6, -2, 2, ...

Here, first term (q) = -10
d=—6-(-10)=-6+10=4
2-(6)=-2+6=4
2-(-2)=2+2=4

. Common difference is same.

. Itis an A.P.
and next three terms are 6, 10, 14, 20



(vi) 12,32, 52, 72, ...
=1,9, 25, 49, ...
Here, first term (a) = 12 = 1
d=9-1=8
25-9=16
49 -25=24
~» Common difference is not same.
- It is not an A.P.
(vii) 1, 3,9, 27, ...
Here, first term (a) = |
d=3-1=2
9-3=6
27-9=18
~* Common difference is not same.
o Itis not an A.P.

viii) 2, 8. 18, 32, --

= J2.242.32.442. ..
Here, first term (@) = /2

and common difference (d)
=25 - V3 = 2
~33-2{3 =13



~* The common difference is same.
.. Itisan A.P.
and next three terms are
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(i) 3,3 +.f5,3+2 05,3435, ..
Here, first term (a) = 3

andd=3+ [ ~2=
3422 -3- 2 =2
3+3/7 -3+2 /3 =2

** Common difference is same.
. Itisan A.P.
and next three terms are

3¥4. 2. 3+5.2,346.05,..
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Here,a= 3



d= 6 -3 =43 x5 -3
=3(2-D)
=5~ J8=3- {5 3 =\3 (5 - )

. Common difference is not same.

- Itis not an A.P.
(xi) a, 2a, 3a, 4a, ...

Here first term (a) = a

Common difference (d) =2a-a=a
3a-2a=a

da-3a=a

" The common difference is same.

. Itisan A.P.

and next three terms are

5a, 6a, 7a

(xif) a,2a+ 1,3a+2,4a+ 3, ...

Here first term (@) = a
and common difference (d)
=2a+1l-a=a+1
3a+2-2a~-1=qg+1
da+3-3a-2=a+1

** Common difference is same.,

S Itisan AP

and three next terms are
Sa+4,6a+ 5, Ta+é,..



